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of the ground state ls, but their method can easily be extented
to the higher levels. Here it will also be calculated for the 2s and 2p
levels.

Putting F(p) = Zb -o7 and inserting this in the dlfferentlal equa-

tion the followmg recursion formula is obtamed
Tt +2+10)b, =+ 1—n)b_,. (8)

If » is an integer the series breaks off and gives a polynomial
of the degree n — 1! — 1. In that case the wave function has a
zero point at 7, = oo. If however 7, is not infinite, but still large
enough that » is nearly an integer, we can put

n = N + B with N integerand | | K N 9)
and
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where the first term in the last member represents the energy
value for r, = oo.

Substituting this in the recursion formula (8) and applying |B| <N,
approximations for the coefficients b, are found. With the boundary
condition that, for finite »,, reads:

F(po) =0, (11)
one can easily find the first order correction for the Is-level,
where N =1 and / =0:
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the formula of Michels, De Boer and Bijl
The calculations for the 2s and 2p levels, where N =2 and

! =0 and 1, yield:
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